AN AE2e
M Ao Ol JbX M2 (ol dsa/de - AHE)
e MX el 285 N (et
% 5 15|
SN P SA(BH) - MBAY - BYS 01l &k o i HlRE2
Atgl ztel ot 75,370,237 65,357,603 10,012,634
= 41,766,272
s 8,625,712
= 24,978,253
Agdol Olef DXl M D( ol & 73,962,172 65,177,280 8,784,892
= 41,766,272
s 8,625,712
= 23,570,188
M 2el 83 X 179,390 457,400 A 278,010
= 120,000
= 59,390
OlchRIgR AXEA & 02 13,200 13,200 0
201 24| 9,200 9,200 0
01 At 22l bl 9,200 9,200 0
oM 2c?de 29 9,200
202 O4Hl 4,000 4,000 0
01 =LA I 4,000 4,000 0
O&tXI 22l & A= RAY =2 4,000
MATEEHR =& 6,400 6,400 0
202 04l 6,400 6,400 0
01 =LA 8l 6,400 6,400 0
OUNHBAR =& 6,400
MY ES Y el 12,790 14,100 A1,310
201 24| 10,000 11,000 A 1,000
02 23294l 10,000 11,000 21,000
Odd 2L |RANES 10,000
202 04l 2,790 3,100 A 310
01 =LHA Bl 2,790 3,100 A 310
OlE B2 L MEESCHS 2,790
SATMFIISY AT M2ZAE(=21) 147,000 0 147,000
= 120,000
< 27,000
403 XM S0l & 147,000 0 147,000
= 120,000
< 27,000
01 RIXIEHM A2 E = 147,000 0 147,000
OAMMHAINISE S3Ial M A 147,000
= 120,000
= 27,000
At THOH ol & KI& 49,891,280 39,893,080 9,998,200
= 28,914,959
Eas 8,625,712
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A
X XH -
(=

S

atg el ot

Ak
At THoH ol & K&

(bl

2o DOleh JhXl ML (=2 ol ek=at/ e

5 5 4\
SH-BH S (BAH) - HRAMY - BLS 01l &k o i SimE=E"
= 12,350,600
MEAE Z8 2 X222 (2D)(NT) 11,065,211 11,709,386 644,175
= 7.745,648
< 3,319,563
201 LBte | 10,000 10,000 0
= 7,000
< 3,000
01 At 22t 10,000 10,000 0
OANZAIE £ L RX L 10,000
= 7,000
= 3,000
401 AlZHIL 2T 11,055,211 11,699,386 644,175
= 7,738,648
= 3,316,563
01 A&l 10,773,505 11,417,031 643,526
oHNgEH 6.016,000
= 4,211,200
< 1,804,800
otz g 4,420,000
= 3,094,000
= 1,326,000
OAZAIE SHEEX 191,000
= 133,700
< 57,300
SR EHES: 146,505
= 102,554
= 43,951
02 el 250,000 250,000 0
OAZAIE =4 250,000
= 175,000
3 75,000
03 Al& = CH I 31,706 32,355 649
OANZAIE =4 31,706
= 22,194
= 9,512
MEAIE X8 ¥ SX22(2D) 23,688,650 13,202,200 10,486,450
= 19,508,300
= 4,180,350
403 XX SHH S K20l H 23,688,650 13,202,200 10,486,450
= 19,508,300
= 4,180,350
01 XEXISHAI R = 2 = 23,688,650 13,202,200 10,486,450
©&FXI AbEY 1,583,550
= 1,304, 100
< 279,450
oA e &X 21,250,000
= 17,500,000
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DA
2ol DI JtX M (s
DA O X

- _ d L4
SA B G (3H) - HEA Ofl &F 0 agﬁ RS2

= 3,750,000
O AP H OFA X X 510,000
= 420,000
== 90,000
oAtz (ZEH) 345,100
= 284,200
== 60,900

AMEAIAE O 2 HHE(2D)(AE 641,924 448,482 193,442
2 449,347
= 192,577

401 A& B L E0HYI 641,924 448,482 193,442
= 449 347
= 192,577

01 A& H| 641,924 448,482 193,442
OHEEHX EIELHEEI} 125,504
2 87,853
== 37,651
ONEl KA 22| EtEY A E D} 36,000
= 25,200
= 10,800
OAItY EIE A HEO} 392,200
= 274,540
== 117,660
OAHAIE QB A 88,220
= 61,754
= 26,466

APREAIAE O & HH(=21) 562,197 473,134 89,063
= 462,986
= 99,211

308 XXIEMSO0A 562,197 473,134 89,063
= 462,986
= 99,211

01 AIXSHMBAEXZ 562,197 473,134 89,063
oAt HH 215,798
= 177,716
c 38,082
oA™Y MU 133,899
= 110,270
= 23,629
O AL OFA XICH 212,500
= 175,000
o 37,500

MEH 24 22X AEEAHR 444,535 29,575 414,960
=2 341,950
= 102,585

308 XX M S 0| 444,535 29,575 414,960
= 341,950
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SN AR
a4l Dl JHX MD(STHYSA/YY - AE)

S MBI Y X (et
M -Z3H-4A(3A) - NREAY - BES Off &F 4 ﬁlgi Hws2

T 102,585

01 X etHBaE2xS 444,535 29,575 414,960
OLHALEY 2 XIS AEHEZ A 444,535
= 341,950
= 102,585

AR THOH L Xtel SOI(AALERE Z o g e) (=2 1) 711,828 742,376 A 30,548
= 406,728
= 305, 100

308 AHXIEHHSOIE 711,828 742,376 A 30,548
= 406,728
< 305, 100

01 HXHHBAEES 711,828 742,376 A30,548
OLHALER S E 0l 2 & 711,828
= 406,728
S 305, 100

AL (ZH)(=)(HE) 27,143 21,429 5,714
= 19,000
& 8,143

201 24| 27,143 21,429 5,714
= 19,000
= 8,143

01 At 2tel ] 27,143 21,429 5,714
OLZEtFHEI |3+ 27,143
= 19,000
= 8,143

S AE(H2)(=21) 9,713,289 9,204,485 508,804
s 8,606,712
S 1,106,577

403 AXIESHH S AH=01d 9,713,289 9,204,485 508,804
= 8,606,712
S 1,106,577

01 HXISHHMIA2E X 9,713,289 9,204,485 508,804
(OFFaR 9,713,289
= 8,606,712
< 1,106,577

LA (HEAY) 2,942,903 2,931,856 11,047

403 AXIEHHS =0l & 2,942,903 2,931,856 11,047

01 HXISHHIH2E X 2,942,903 2,931,856 11,047
OFAA L (HEH) 373,242
OTFXZNE(HE) 1,046,897
odEE(ME) 886,615
oLz el (Ha) 565,442
OME LA (HE) 70,707

AFALEHCHE 20F At =& 3,600 3,400 200
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SN AR
a4l Dl JHX MD(STHYSA/YY - AE)

el AFRITHHOIE K| (cho: A8l
% 5 15|
2N -3 - (3H) - NHEAMY - BE= Ofl &F o a&% Hws2
202 01 bl 3,600 3,400 200
01 24 01 bl 3,600 3,400 200
OMAEIISYR =& 3,600
HIOlYE 243t 90,000 0 90,000
207 1RO bl 90,000 0 90,000
01 eyl 90,000 0 90,000
OHIDIYE KEEZAl - HBYO SR 90,000
MEEY B Bl 5,323,389 5,195,373 128,016
= 4,246,477
= 1,076,912
MYHHELR(2D)(RE) 10,000 10,000 0
= 5,380
= 4,620
201 L2yl 5,000 5,000 0
= 2,880
= 2,120
01 At 2relt] 5,000 5,000 0
CREELET 5,000
= 2,880
= 2,120
202 01l 5,000 5,000 0
= 2,500
= 2,500
01 24 04 bl 5,000 5,000 0
OMEHEL R 5,000
= 2,500
= 2,500
SYHHELR(F4)(2D) 3,198,766 3,283,673 84,907
=2 2,716,307
= 482,459
308 X+XI EH Al S 01 & 3,198,766 3,283,673 84,907
=2 2,716,307
= 482,459
0l RXISHBARES 3,198,766 3,283,673 84,907
OMEHELA 3,198,766
= 2,716,307
& 482,459
OlsHExzA423(=21) 455,312 437,008 18,304
= 350,240
= 105,072
308 XHXI € &I S 0l & 455,312 437,008 18,304
= 350,240
= 105,072
01 HXSHBARES 455,312 437,008 18,304
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2A: 2l 22|
Pl 2o Oleh JIxl H(sE
Cel NS BF B2 EERED
M- E8 .o (3) - HSEAY O &k 2 b HZE2
= 26,680
201 et A H| 21,680 11,680 10,000
= 21,680
01 At 22l Hl 21,680 11,680 10,000
OS2 BEsEs 21,680
= 21,680
202 04| 5,000 15,000 A 10,000
= 5,000
01 2 obl 5,000 15,000 A 10,000
OMEUZ BEsES 5,000
= 5,000
254+ XNE - 2l 153,600 122,000 31,600
201 L2 | 3,600 4,000 A 400
01 At 22l Hl 3,600 4,000 A 400
OES 4+ Ao 3,600
403 XX S M S K201 A 150,000 118,000 32,000
01 AIXISHHMA2E X 150,000 118,000 32,000
OBS 4 H| 150,000
254 ot@ZE(=2D) 49,400 0 49,400
= 38,000
= 11,400
308 XX SHHMSO0IA 49,400 0 49,400
= 38,000
== 11,400
01 AIXSMBANEXZ 49,400 0] 49,400
OES4 OtA 22| 49,400
= 38,000
= 11,400
g X ekt 18,568,113 19,631,427 AN 1,063,314
= 8,484,836
== 10,083,277
=Y E2ES 178,200 178,000 200
201 LBr2 Y| 169,700 169,500 200
01 At 22l i 157,500 157,500 0
on=slY =2s 157,500
02 =329l 12,200 12,000 200
OAZAEA O Y 7,200
oOMEXNFNE 29 5,000
202 (4] 8,500 8,500 0
01 Z2W ol 8,500 8,500 0
ONMSH X E 8,500
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SH: MBI
MY

2o DIch JIXl MDD (2ol Ld=p/2Ad . AE)
Chel: AASEX M2t (cH A
5 4 14
K- B . a9 (31H) - HEAY Ofl &F 0 agﬁ RS2
= 587,298
= 264,292
01 AIXSHHMBAAEEXZ 851,590 998,287 A 146,697
OAr=2 X O = 851,590
= 587,298
= 264,292
SYUAUHM(A42)(=2) 1,577,135 2,424,051 A 846,916
= 1,087,680
== 489,455
403 XX SHHS K201 ™ 1,577,135 2,424,051 A 846,916
= 1,087,680
== 489,455
01 XS HA=2E X 1,577,135 2,424,051 A 846,916
OLt= XY= 1,577,135
= 1,087,680
= 489,455
AtSITHOH L Kt 2l SO (MEX 20 8 & & 9,721,157 9,889,649 A 168,492
= 6,704,242
= 3,016,915
308 XX SHHMSO0A 9,721,157 9,889,649 N 168,492
= 6,704,242
= 3,016,915
01 IXSHHBAEEXZ 9,721,157 9,889,649 A 168,492
O/EN S0l 2 & 3T 9,721,157
= 6,704,242
== 3,016,915
&t L SAZE (BE /) 1,364,048 136, 306 1,227,742
DAl & 22 1,364,048 136,306 1,227,742
le| & MEMEIS3 AFY 1,342,048 83,400 1,258,648
101 @124 | 19,448 0 19,448
04 JI12tHIZ22XNEESE 19,448 0 19,448
OURHSA B 2Y 19,448
201 gt 4| 28,200 9,000 19,200
01 AP 2tel Hl 28,200 9,000 19,200
OMEISAFTANL AJA G 28,200
202 04| 7,400 7,400 0
01 2L A bl 7,400 7,400 0
OMENISAFACH 2OoIAD| 7,400
206 M =4l 10,000 0 10,000
01 MZdl 10,000 0 10,000
ORE, AE HZE & ¢ 10,000
401 A& B L £ 0HYI 1,277,000 67,000 1,210,000
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SN MEBRD
HE: BFSULRANDL(BF/T )
ol 2RmALEY e CERLD
% 5 15|
SA B S (BH) - MEMY - BES Ol & 24 i BlRE2

01 A& HI 1,272,000 67,000 1,205,000
Ol HYMEHR AL 1,272,000

03 AIE 2HHI 5,000 0 5,000
Otelgst HYMEE AL 5,000

SISO o MEE Z 22 22,000 52,906 230,906

401 AIEHI L 2 Y] 22,000 52,906 230,906

01 A& Hl 22,000 52,906 30,906
OYWMAUZIIE HELQANMIAL ST 22| 22,000

HEYSIZ Y (At 22l ) (OIEH/JIEL) 44,017 44,017 0

Jl= &l 44,017 44,017 0

FHNEE JI2Zl 44,017 44,017 0

201 L2 31,267 31,267 0

01 At 22l tl 31,267 31,267 0
OSHEY ASR2IH 31,267

202 o4l 8,550 8,550 0

01 =LH A Bl 8,550 8,550 0
OSN2Y L0 8,550

203 YR =2 4,200 4,200 0

04 PN2ILRFTH| 4,200 4,200 0
©2521 Ol ot 350,000& x12& 4,200
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